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fx) =sinx - f(x)'= s ddis cos x

f(x) =cosx — f(x)'= -4l diia sin x

fx) =tanx — f(x) = sl diie sec® x

f(x) =cotx — f(x)'= - Ll di. csc? x

fix) =secx — f(x)'= 4l ik sec x tan x
f(x) =scs x = f(x)'= - 4l dide csC X COt X
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[uisissinudx=-cosu+c

[uisiiacosudx=sinu+c

[uisiasec?udx=tanu+c

Juisiiscsc’?udx=-cotu+c

fuisisssecutanudx=secu+cC

fuisisacscucotudx=-cscu+c

Judsistanudx= In |secul| +c

Judsisacotudx= -In |cscu| +c
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1) [(sin4x dx

= lf4(sin4x dx = —Lcosdx + ¢
4 4
2) [ cos2xdx
1 1.
= -[2cos2xdx = =sin2x + ¢
2 2
3) [sec?3xdx
= §f3sec2 3xdx = gtan3x + c
4) [csc?xdx

= —cotx + ¢

5) [sec5x tan5x dx
= %szec 5x tanb5xdx = %sech + c

6) [ cscx cotx dx

= —¢cscx + ¢
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7- | 5 tan 5x dx

= In |sec5x| +c
8- [ cot 2x dx

= - %ln |cscu| +c¢
9- | - xsin x* dx

= %1] 2xsin x% dx = %cos 2x% + ¢
10- | x*cos 2x* dx

= gf 8x*cos 2x* dx = gsin 2x* dx + ¢
11- | x sec5x” tan 5x* dx

= 1—10I 10 x sec5x® tan 5x? dx = 1—10 sec5x? + ¢
12- | x*sinx® dx
1

. —1
= - [3x?sinx’dx = — cosx® +c
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13- [(cos 2x + sin 2x ) dx

1
= —sin2 — 2
2sm x+(2 cos x)+c

1

1
= —sin2x — = cos?2
Zsmx 2COSX+C

14- f(sinx —cosx )’ (cosx + sinx) dx

(sinx — cos x )®
8

=3 (sinx —cosx)® + ¢

15_ f secvx—1tanvx—1

x—1

dx

= [ (x—1) Y2 secVx — 1 tanVx — 1dx

1
=2f E(x — 1) Y2 secvVx — 1 tanVx — 1dx
=2secVvx—1+c

(EW s 1) Ao e 3n(2) e o) g 8w (secxs) cscx) QWS 1A Al Ay & idas S
16- [ tanx sec”8x dx

= [tanx secx sec™°x dx

-1 1
= —-sec 8x+c=—gsec 8x + ¢
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17- | cos x sin® x dx
= %sin4 X+C
18- [ sin 2x cos™ 2x dx
-1

=— [-2 sin 2x cos ~ 2x dx

1 )
=-C0S X+C
8
19- | cscx cot x csctx dx
1 5
= E CSC" X+ ¢C
20 - [ sin x sin® (cosx) dx

= -] -sinx sin® (cosx) dx

- %sin4 (cos x) dx
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1- [9sin3x dx (UL EEN
2- [xtan (2x2 + 1) dx

3- [cot (7- %) dx

4- [ sin (3x +2) + cos(2-3x) dx
5- [ sec? (4x) dx

6- | x*csc (3- ’;—2) dx

7- [x? csc (2%°) cot(2x?) dx
8- | cosbx cos(9+ 4sin6x) dx
9- | cos®x sinx dx

10- | % sin vx dx

11- [ (1+ sint)? cost dt

12- | xcos(3x?) dx

13- | x%sec? x*dx

14- | cos® 2t sin2tdt

15- [ cosx V2 — sindx dx

16- [ tan® 5x sec® 5x dx

17- [ sin3x sec” cos3x dx

18- | (1-cosx)® sinxdx

19- [ (1- sin2x)**cos2xdx

20- | x" tan (8x® + 6) dx

21- | sin (7- cos3x) sin3x dx
22-[ % cos /t dt

J- secxtanx
(3+2secx)?

24'.[ (cos x—sinx)

(sinx+cosx)3

25- | (2+ tanx) sec®x dx
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